ALGEBRA I QUIZ 1.2



1.
(a)
Completely classify -5.



(b)
Is the following statement true or false?  Explain your choice.





All real numbers are rational numbers.




(2 points)


2.
Give a reason to justify each step.






(3 points)
	3x + 7 + 2(x – 3) – 2x
a. 
	= 

   3x + 7 + 2x – 6 – 2x
	

	b.
	= 3x + 7 + 2x + (–6) + (-2x)
	

	c.
	= 7 + (–6) + 3x + 2x + (-2x)
	

	d.
	= 7 + (–6) + 3x + 0
	

	e.
	= 1 + 3x                                    
	

	f.


	= 3x + 1                                      
	


Simplify the expressions in questions 3-4.







(2 points)

             3. 
2x + ¾(4x + 16)

             
4. 
-6 – 3(2k + 4)

Solve the equations in questions 5-13.

5.
54 – 15d  = 39 









(1 point)



6.
10p – 36 = -86









(1 point)
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7.
2h – 6 = 2







          

(2 points)
    

    6        3





      



8.
7 – 3y + 2y = 16









(2 points)
          

9.
1 = 5x+ 3 x









(2 points)


8    4    16



10.
-¼(8 – 16a) + 6a = 38








(2 points)

11.
-¼x+ 36 = -x + 9 








(2 points)

12.
2(h – 8) – h = h – 16 








(2 points)

13.
2(x + 10) = -3(x – 15)

  






(2 points)

14.
You are driving to visit a friend in another state who lives 440 miles away. You are driving 55 miles per hour and have already driven 275 miles. (a) Write an equation to find how much longer in hours you must drive to reach your destination.
(b) Solve the equation.


          

(1 point)


15.
Three times the sum of a number and 4 is 8 less than one-half the number. (a) Write an equation to find the number.  (b) Solve the equation.






 (2 points)

16.
Admission for a water park is $17.50 per day plus a locker rental fee of $3.50 per day.  A season pass (that includes a complementary locker rental) costs $125.  (a) Write an equation that can be used to find how many days would you have to go to the water park for the season pass to save you money.  (b) Solve the equation.









(2 points)


17.
Jim invited three of his friend to lunch at Big Burger Barn to repay them for their help.  Jim ordered a soda for $1.50, fries for $0.75, 2 hamburgers for $1.40 each and a chocolate milkshake.  Jims three friends followed Jim’s example and ordered the same lunch.  The total bill was $34.20.
(2 points)


(a)   
Create an expression for just Jim’s order.


(b)
Create an equation for the total bill.



(c)
How much is the milkshake?
BONUS

The student council wants to rent a ballroom for the junior prom.  The ballroom’s rental rate is $1500 for 3h and $125

for each additional half hour.  Suppose the student council raises $2125.  What is the maximum number of hours for

which they can rent the ballroom?








(2 points)


ANSWERS
1. (a)
Neither Prime nor composite, Z, Q, R


(1)
(b)
False; some real numbers are irrational.


(1)
      2.
(a)
Distributive Property




(½) 

(b)
Definition of subtraction



(½)

(c)
C+






(½)

(d)
IV+






(½)

(e)
Addition





(½)

(f)
C+






(½)
3.
5x + 12







(1)
4.
-6k – 18 






(1)
5.
d = 1







(1)
6.
p = -70







(1)
7.
h = 5







(2)
8.
y = -9







(2)
9.
x = 2







(2)
                  23

10.
a = 4







(2)
11.
x = -36







(2)
12.
Infinitely many solutions




(2)
13.
x = 5







(2)
14.
(a)
55x + 275 = 440


(b)
3 hours






(1)
15.
(a)
3(x + 4) = ½x – 8  




(1)

(b)
-8






(1)
16.
(a)
17.5x + 3.5x = 125




(1)

(b)
6 days






(1)
17.
(a)
1.5 + 0.75 + 2.8 + x






(b)
4(1.5 + 0.75 + 2.8 + x) = 34.20


(c)
$3.50






(2)
BONUS

1500 + 250(x – 3) = 2125





(2)
                           x = 5½ hours
Max hours = 5
